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Model Question (NEB) 
Grade: XII Subject: Physics (102)  
Full marks: 75 (11 marks Obj+ 64 marks Sub)  Time: 3 Hours 
 

Group A: Multiple Choice Questions (11×1 = 11) Time 25 Minutes 
 
Tick the correct answer. 
1.  Which of the following is a correct formula for calculating radius of gyration of a rotating 

object? 
 A) k2= I/m  B) k= I/m  C) k= m/I  D) k = (I/m)2 
2.  A horizontal stream of air is blown under one of the 

pans of a beam balance as shown in the figure. What 
will be the effect of this on the pan? 

 A) goes up.  B) goes down   
 C) remains unaffected  D) rotates 
3.  What will be the height of a capillary on the surface of 

the Moon if it is „h‟ on Earth? 
 A) h  B) h/6  C) 6h  D) zero 
4.  What is the coefficient of performance of an ideal refrigerator working between ice point and 

room temperature (27oC)? 
 A) 0  B) 0.1  C) 1  D) 10 
5.  A thermodynamic system is taken from A to B via C and then returned to A via D as shown in 

the p-V diagram. 
 The area of which segment of the graph represents the total work  
 done by the system? 
  
 A) P1ACBP2P1  B) ACBB‟A‟A  C) ACBDA  
  D) ADBB‟A‟A 
6.  Which one of the following directly affects the quality of sound? 
 A) shape of the source  B) frequency  C) intensity   
 D) wave form 
 
7.  A diffraction pattern is obtained using a beam of red light. What will be the effect on the 

diffraction pattern if the red light is replaced with white light? 
A) All bright fringes become white. 
B) All bright fringes, except the central one, become white. 
C) All bright fringes become colourful. 
D) All bright fringes, except the central one, become colourful. 

8.  In which one of the following diagrams the currents are related by the equation I1 - I 2 = I 3 - I 
4?  

 
            A)                      B)                       C)                   D) 

 
9.  A coil having N turns and cross-section area A carries current I. Which physical quantity does 

the product NIA represent? 
 A) magnetic flux of the coil  B) magnetic flux density of the coil 
 C) magnetic moment of the coil  D) magnetic susceptibility of the coil 
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